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QUESTION 1

A retail company connects its 250 branches across the globe to the core using MPLS Layer 3 VPN. The company is
planning to migrate its traditional telephony services to VoIp, in order to reduce the cost of international calls. What are
the two primary concerns when implementing this migration? (Choose two) 

A. Jitter 

B. Call routing design 

C. SRST 

D. MTU 

E. Available bandwidth 

Correct Answer: AE 

 

QUESTION 2

In a design around fast convergence in case of a link failure, what is the justification for using a point-to-point OSPF
network type on the Ethernet links between leaf-and-spine switches on a data center fabric? 

A. Link failure tears down neighbor relationships regardless of network type configured 

B. Type 1 LSAs are not generated on a point-to-point network type 

C. Adjacencies can be built faster without a DR/BDR on the segment 

D. The fabric memory requirements are significantly smaller than with a DR/BDR on each leaf and spine segment 

E. The point-to-point network type allows for NSF to be used in this design 

Correct Answer: C 

 

QUESTION 3

Which MPLS attribute is required for links to carry a given MPLSTE tunnel? 

A. TE tunnel destination address 

B. Tunnel path-selection metric 

C. Affinity 

D. Next-hop backup tunnel 

Correct Answer: A 
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QUESTION 4

Which load balancing option for IP-only traffic is the least efficient in terms of EtherChannel physical links utilization? 

A. On a per source IP address basis 

B. On a per destination MAC address basis 

C. On a per destination IP address basis 

D. On a per port number basis 

Correct Answer: B 

 

QUESTION 5

Which four resources does Cisco Cloud Center provision in an ACL environment? (Choose four) 

A. VLAN Pool 

B. Contracts 

C. End point Group (EPG) 

D. VRF 

E. Subject/Filters 

F. Application Network Profile (ANP) 

Correct Answer: BCEF 

352-011 PDF Dumps 352-011 Exam Questions 352-011 Braindumps

Powered by TCPDF (www.tcpdf.org)

352-011 PDF Dumps | 352-011 Exam Questions | 352-011 Braindumps                                3 / 3

https://www.leads4pass.com/352-011.html
https://www.leads4pass.com/352-011.html
https://www.leads4pass.com/352-011.html
http://www.tcpdf.org
https://www.leads4pass.com/352-011.html
https://www.leads4pass.com/352-011.html
https://www.leads4pass.com/352-011.html

